My = -

;z'.)%~

G

Co+ 3. 410 =C

’ E oo
6( ;)Oiﬂ_..,) + 3y +10

IO =0
19 'y 4 (oé* + "y

L= - 46

<(3,-¢)




;il_) 60«015L3p ¢ BC

‘l U—— S l

=6 - = — ¢y

 Canolbot = (€,-25)

dﬁa QYCm,
o/

< &) Ol A =

73 - J3 4 | /

"\(H»n)+7 (J‘Si ) = 4J)3 +9 s 33 -7

L

=63 2 - wE el

3

sl

W3~ a3 -~ a3

>

L 30 - a4y — a3 = 3

N 3¢ -9x 4| | P D =7

dy - 6x=A 4=3( 2) = 9(e) »| =5

e » % ( R.,'%’St)

“nme——

3%@6‘&@»( pen o o= 6(2)-1 =3




=(x=3)" = () )
......... (o™ 62c44)

_ T,
Sueré(mboﬁ a2 }’)0« e x= 23 =—2( “+623—A1,

+4

Qo Plyn ¢ MLD“(: (3 2) A

\

= ¢ F 4 (Gt )J( =7

La) o OCHR =20tk (MKa3)oe R

D,' DC +#C

AT ey + (F-k) ~ o

oS A bua.nééwaLﬁmcadb L “—Gac> 0O
= |

Gr) = (1) (F-k) >0 b=(icr2

Jblk ™Mby — A3 + Gk D6 €= F-iC

ek Ak -aL >0 (= w)

U " xFic — 65O

+5

. 23
Gy gl -3k —6 PO

(K ¥2 )= 3(4x2) >0 G, -3)




G D)(xt2) > o ,

\ )

Gix -3 =0 I~ K+2~c
ket e e D) A

1Y

A

b

6 Cii) A= 36,1 ~Sx ¥

_‘rzb’:g-em?(:)ﬁ—z\ )= s (x4L )+ — (-436 oS5+ )

e B7° h

R P Gt B TRty A N k. 4 S ey A
" ,

n— e
= 0 Gy = Fhes

h=>0

T (3aa)t s 30 e WP 600 () l3)(2x)
(20t

=¥ U6 r Albx T+ QxS+ 6 Y

R




% N , N AT ;
PO+2) = 10 2 n() /) = nin-n() (%) +.
IS (< = G/

S NOC + f)(n-\)’?él
o 3

Clarmed x* = N(n-\)
~ 32
ClCefmoG( 2. ™D A
- <&
oo ss(n) = nln-1)
-~/ 3 <
3AA YA = " t— N
Q.,{
GCOn = "n——N
O =nNn"=4|n
O =n(n-G1)
N =0 X e n= (-‘P)
| o) f=p X3 —x* =3lx +g
t(2) =0
() =-3¢
0o ’D(“Z)%”’ (’7)3:,’3('[“1) ro =0
| Vi
8o ¥ rg 2O g=p-52 (O
p(l)3*Q)L~3l(\) x5 =0
i.’) = | "—5/ *“‘}/ =
lf) -3 '}'Z/:: ] %:




bob g}')"f—? :«P--q,
C?;D = 5T
P =6
(Ci’ = 8’,@ -3
= Y= X
g =—LO
- ———
W 2_—;) QQ&Q(‘OVN EE — % —Diocawe 1O
F(-»Q.) =0 (\X ‘*‘2\, N [Cac e

f’)(«-l\(@:x ~ 132 -3~ \ =0

3
(:uz)(@,c |z - 5) FO afle
(14‘7’)(3%(21 S‘\*l(&x»—) ﬂ =0 g R g8
(DC'*"?’)(‘%)CA—H(QO(*)\) @) )
St e =) e =S e di-ons
N Y4 4 Dcrlfc'—dq%zx/‘\
\0/\0/ MECh. 110
G a) a=Cour3) b) = cF0)
70 )
x J lle mee ==L
/ <
; 0
T i'j > 6o &‘;a":’@ ‘(X/)
bﬂﬂ\?) Q‘/‘/")
\\w—vﬁ{u)




L 2

| -
i0 q) s
§- 200
C\.(ZOMGA\ U =2 x (=250 ) x('? Zap)
L ——

= (QQ*Q)L o) b — &“J;x,)

= 2 ( Got “=2€2¢ +4 O )

= o —26x " + & Ooc

i
s,
; Y
/ y

E) é\;’, - TS +ULO oo~ me%wl/m}\
dai ?W‘P“_ﬁ,:o
S 12— 2 +UO =O & «)
BT —132 1o =0 Fix
N EY:
2x c—105¢|-3 5t IO =0 \
x(3x-10) ~IBac- >O) o
(x~ \) ng 10) =
x= | rax =12 oo _bod X< R 5T
; e 3 X J
E_Ii/ - o =52 pan Lo x= |
doc ¢ —x
clo =2 —x 2 <O
——
Gac ™ Lo macy
Guetl macs  om U = G113 =260 »600)

=G =26 +40

= | &

—_—




